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SECTION A:(40 Marks)

Add: 22 + 33

Write 93,006 in words.

Solve: 3p—-8=4

Find the Sum of the next two numbers in sequence:
4, 6, 8, 10,

Give that; K = {all prime numbers between 0 and 10) Find n(K)




6.  Write the evening time below in 24 hour clock system.

5:5

7.  Given that represents 7 balls. Draw balls representing 35
balls.

8.  Simplify: 3-"2

9. The cost of six tomatoes is sh 1,200. How many tomatoes can one
buy with sh. 1,6007?

10. Alice had !/3 of the sugar, she ate /¢ of it . What fraction of the

sugarcane was left?




11. The bearing of Kyotera from Masaka is 200°. What is the bearing of

Masaka from Kyotera?

12. Find the area of the quadrilateral below.

l] .
L

13. Using a ruler, a special and pair of compasses only. Construct an
angle of 270°,

14. Work out: 101two X 11ltwo




15.

16.

17.

18.

19.

The average of three girls is 16 years. If one girl is 12 year old. Find

the total of the remaining girls.

Express 20m/s as kilometers per hour.

Mukasa had XLIV cows. Write Mukasa’s cows in Hindu Arabic
numeral.

In a basket, there 7 oranges and 3 lemons. What is the chance of

picking a lemon from the basket at random?

Jame’s water metre was 003459 at the beginning of August and at
the end of the month of the reading was 0003558. How many did he

use?




20.

21.

If today is Saturday what day of the week was it 45 days ago?

Section B
Below is a number line showing integers. Use it to answer

questions that follow.

(@)

(i)

(b)
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Name the integers represented by arrows: (1 mark each)
a= (i) b= (i) c=

After covering 8km, a motorist realized that his tyre had a puncture.
He stopped and got a boda boda to go back for a mechanic who was
3km backward. How far is the mechanic man from the motorist’s

home? (2 marks)




22(a) In a class of 80 pupils, 35 like English, 20 pupils like both English and
Mathematics, r pupils like Mathematics only while those who don't

like any of the two subjects are exactly the same as those who like

English only.
(@) Use the information given above to complete the Venn diagram.
n(&) =80 ( 2 marks)
n(E) n(M)

(b) Find the value of r. (2 marks)

(c) If a pupil is picked at random, What is the probability that the pupil

likes Mathematics only?

23. Given that; m =5, y = 2, Find the value of my-1. (2 marks)




(b)

24,
(@)

(b)

25.

(@)

A mother is 42yrs and the daughter is 16yrs. In how many years will

the mother be twice as old as the daughter? (3 marks)

Given the digits: 8,0,1 and 2.

Form the largest four- digit numeral. (1 mark)

What is the sum of value of 2 and the place value of eight in the

largest number formed in (a) above? (4 marks)

In a juice factory, sugar is mixed with water in the ratio of 2:8. The
juice is packet in 20 litre jerrycans.
How many litres of water are used in one jerrycan of juice?

(2 marks)




(b)

26.

27.

If one kg of sugar costs sh. 3000, how much does it cost to produce
500 litres of juice? (3 marks)

Using a ruler, a pair of compasses and a pencil only, construct a
triangle RST in which RS =8cm, angle TRS = 60°, angle RST = 45°,

Construct a perpendicular from T to meet RS at W. (5 marks)

The tank below is 1/3 full of water.

“Al50em




(@)

(b)

28.

(@)

How much water is in the tank in cubic centimetres? (2 marks)

Find the capacity of water when the tank is full. (3 marks)

The pie-chart below shows Allan’s monthly expenditure.

Find the value of p. (2 marks)




(b) Allan spends sh, 144,000 on food . Find Allan’s monthly income?

(c) Express Allan’s savings as a fraction of the whole income. (1 mark)

29. A tax which travels at a speed of 12km/hr leaves Kyotera town at
9:30am and arrives at Masaka at 1:30pm. What is the distance

between Kyotera and Masaka? (5 marks)

30. The mean of 3 consecutive even numbers is 16. Find their range.
(5 marks)




31. Madada went to the market and bought the following items:
4kg of rice at sh. 3000 a kg.
2> of sugar at sh. 4000 a kg.
2504 of tea leaves at sh. 7000 a kg.
2kg of salt at sh. 2800
(a) Find Madada's total expenditure. (4 marks)

(b) If he went to the market with sh. 30,000, what balance did he get?
(1 mark)

32. In the figure below, QR is parallel to PT and PQ = RS. Use it to

answer the questions below.




(@)

(b)

Find the value of angle TSR in degree. (3 marks)

calculate the value of r in degrees. (2 marks)




